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Note : Answer all questions. All questions carry equal
marks.

TS / Unit-1
[ fodta foeroi w1 smerE, wPfd, Ao qu
g #1 fad=a HIfNe

Discuss the meaning, nature, importance and
limitations of Financial statements.

HYdar / OR

94_JD B_ *_( l 2) (Turn Over)



(2)

iz @ F hEE ¥ e ghe 3,

a4, 2020 &1 W fFw mw ¥ .

RS I
@Y

NES
FORE <
@ fau
faswa

E

w9 g

Wd I

¥
24,000
16,000
50,000
24,000
6,000
1,06,000
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(3)

The following data are being taken from the
records of XYZ Company as on 31st March,

2020 :

Trade Receivables
[nventories

Cash

Trade Payable
Bills Payable
Sales

Purchase
Purchase Returns

Prepaid Expenses

7
24,000

16,000
50,000
24,000
6,000
1,06,000
68,000
1,500
4,000

On the basis of above informations compute

the following :
(i) Inventory Turnover

(ii) Trade Payable Turnover

(iif) Average Age of Payable

(iv) Trade Receivables Turnover

(v) Working Capital Ratio

(vi) Liquid Rauo
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Za&Tg / Unit-I1 (5)
\\
, %8 T fe R? F T T fereron [31.3.2020[ 31.3.2021
g G @ | @
II. wwfagf
what is Cash flow statement ? Discuss its
main uses and limitations. ﬁ'(~?nq Ratesiied 3,30,000| 4,00,000
3r9ar / OR I 7 (80,000) | (1,00,000)
B fafite & ad 31 W, 2020 stk 20p1 e, weafE 1,50,000  1,80,000
F tfya faeg = wew € - 4,00,000| 4,80,000
CE 31.3.2020(31.3.2021 ¥ 2020-21 & SRA ¥ 20,000 A HI =R
€2) (%) gmfaal (F™ 7 10,000) ¥ 2,500 & @™ W
L U UE I 9§ W FEvE o § ufedd fean
IR FIN: g faau qo1 v yaE faawo dar siftaw)
S %’ﬁ 2,00,000( 2,50,000 The following are the summarised Balance
T @ Aty - Sheets of B Ltd. for the year ending 3lst
m fifr © March, 2020 and 2021 :
SEES - 10,000
i Tt % famg Particulars 31-3-2020{31-3-2021
bl - 2,500 ®) &)
T % ¥ T oy - 500 I. Equity and Liabilities :
:?—mﬁ ferao- snfiag 15,000 45,000 Shareholder Fund
N H 30,000| 50,000 Share Capital 2,00,000| 2,50,000
6*’/-;“1 T Reserves and Surplus :
' 50,000 40,000 Securities Premium
1 1,05,000 82,000 Reserve - 10,000
4,00,000| 4,80,000
94_1DB % 94 JDB_* (12) (Turn Over)
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Particulars 31-3-2020{31-3-2021
(%) )
Profit on Sale of Fixed
Assets - 2,500
Profit on redemption of
Debentures - 500

Statement of Profit & Loss -
Surplus

Profit of the yearv
Non-Current Liabilities :
6% Debentures

Current Liabilities

15,000 45,000

30,000 50,000

50,000 40,000

1,05,000 82,000

4,00,000( 4,80,000
I1. Assets :
Non-Current Assets 3,30,000| 4,00,000
Less : Depreciation (80,000)(1,00,000)
Current Assets 1,50,000{ 1,80,000
4,00,000( 4,80,000
94_JDB_* (12) (Continued)

(7)
During the year 2020-21 Fixed Assets costing
¥ 20,000 (Depreciation ¥ 10,000) were sold at

profit of ¥ 2,500. Prepare the statement

showing changes in Working Capital and Fund
Flow Statement.

TS / Unit-III

3. faucras @ & 2 dim wE faveeas
g H A Fifew ol #t ufsar &t
GHARY |

What is differential costing ? Differentiate
between Marginal and Differential Costing.
Explain the process of decision making.

379aT / OR

yhwl fdo & Frefafed @A afvyeg
W%:

ad faswa SICGJIE]
() (%)
2018-19 2,50,000 50,000 (®1f7)
2019-20 7,50,000 50,000 (TH)
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maﬁﬁﬁq:
(i) TN-HE ST
(i) E amTa

(iii) T 2018-19 TH 2019-20 ¥ fau g
SIGH

(v) T-fa=g fag
(v) ¥ 10,000 %mu%f‘mwaﬂ;ﬂm

Following records are available

from.
accounting records of Prakash Ltd. :
Year Sales Profit/Loss
(®) )
2018-19 2,50,000 50,000 (Loss)
2019-20 7,50,000 50,000 (Profit)
Find Out :
(i) P/V Ratio

(ii) Fixed Cost
(iii) Marginal Cost for 2018-19 and 2019-20
(iv) Break Even Point

(v) Margin of Safety for profit of ¥ 10,000

(Continued)

(9)
3HTE / Unit-1V
4. T fom A 0 osmm 22 wd o
& dmel R fade Fife

What is meant by Budgetary control ? Discuss
its merits and limitations.

379747 / OR
Th FA TF T a5 F1 IR Ht
B gt wfa s @ = €.
ﬁmﬂ.mamn,m
I9fema 751
g IRadasid ard 39 TR € :
YN WM T 235, AWEW FH T 156,
TG Td T@R@E ¥ 5701
Fg-giadavia ardl § tfEdwia
wfa e = €
Jyy WOER ¥ 0.05, WM FH T 0.08,
TOHd Td T@@d 30101
ﬁmamﬁwm%
wmgqﬁm?z,ooo.mﬁmwﬁwa‘
% 3,000, Y T faam 39 72,5001
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IWE AE 70% WEE FHAT W Iifea
700 A ® ¥ fawE Y@ T30 wfa
@R ¢ IWEd el H TEEd ¥ 60%,
80% TUT 100% |HME &HAl W AEIR §oie

FR FifSw)
A Company produces a standard product the
estimated costs per unit are as follows :

Raw materials ¥ 4, Direct labour ¥ 2, Variable
overheads ¥ 5.

The semi-variable costs are :

Indirect materials ¥ 235, Indirect labour ¥ 156,
Maintenance and Repair ¥ 570.

The variable costs per unit included in semi-
variable costs are :

Indirect materials ¥ 0.05, Indirect labour
¥ 0.08, Maintenance and Repair ¥ 0.10.

The Fixed Costs are :

Factory overheads ¥ 2,000, Administrative
overheads ¥ 3,000, Selling and Distribution
overheads ¥ 2,500.

The above costs are of 700 units produced at
70% normal capacity. The selling price is ¥ 3()
per unit. Prepare Flexible Budget for 60%,
80% and 100% normal capacities with (he
help of above data.

94_JDB_% (12)
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33 / Unit-V

g oma fafs w ge faveand adase
dr wF wE oma fafu # smEvEs wd
e FHife |

Discuss the characteristics of standard costing
and mention the essential conditions of an
effective system of standard costing.

3794ar / OR

ot o ¥ Sred § wfa 3FE wHO ArEl
qg1 v ged freEr €

qH-X s fem. @ T3 v feam
-y 10 fem. @ ¥2 W f&m

s00 gl ¥ seRA § wgW WA F
areafae w1 T @ e ¥

am-X 2800 fem. T T 8,680
qrit.y 4800 fE.L @I T 10,560
frAfafigq faerel @ Ol I :
() wrwi e e

(i) s e faat

-
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(12)
(i) Ty fa=T
(iv) TR wefea wE faE
(v) ol g fa=r

The standard quantity of material per unit and

standard price for producing an item are as
follows :

Material - X 5kg @ ¥ 3 per kg

Material - Y 10 kg @ T 2 per kg

The actual quantity of material consumed and
its cost for producing 500 units are as under :

Material - X 2800 kg Cost ¥ 8,680

Material - Y 4800 kg Cost ¥ 10,560
Calculate the following variances :

(i) Material Cost Variance

(ii) Material Price Variance

(iif) Material Usage Variance

(iv) Material Revised Usage Variance

(v) Material Mix Variance

94_JDB * (12) 2,080
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